A

fax+by+5 =

o

&

=

5

0olck. oluf a+ 5] S 7



e B4 RS A4 xty o S

JSHA L.

3x+3+ (2y-9)i=9+5i

kR
-




3. a=2+V3i, b=2-3idgdd > + 2o gt patedat (o,

i=V-1)

DRk
=%



o g2

k

S
T

Al
=

s

i

—

Al x?—6x+k=00°] L 7H4

ki

1%

4.

® 3 B 6 @ 9 B 36

D 1



@ x=-29 W, 57 3& 2o,
® x=29 u, A9gt 32 2=
® x=29 W, 293 2
® x=-; o, gk & Lk



w_a
__OH



Q]
B ax+122x+59 a7k x>2¢ o, 4



N

5 o4 A, BO| tiote] A4t Ae BOH A BS th33} 2ol A olst
|2 gt

AOB=A-3B, A®B=(A+B)B

P=2x3+2x’y +3xp2 =y, Q0 = x> + x>y + xy? o|=+ & ],

(P Q)® QE x yoll Wt tpaAl oz YJepfH?

e

D M +x° @ x*y? - xy° B x3y? — 0yt

@ x3y? + xy! ® 2x3y? — xy!



9.  (2x% —3x% +3x +4)(3x* + 2x% — 2x% — Tx + 8) 2 HIHG AofA 3
o] A5E?

@D 31 ® 33 3 35 @ 37 3 39



£ Q5RH T 1), ek A%

7t opd

B3 x-3 @ x+1 B x4+ 2



11.

o5 & o] 1t - 8x% - 99] )14=7} ofd
@ x-3 @ x+3
@ x2+1 @ x*2+9

® ¥ +3x24+x+3

209

A .



12, AEPFAA] x(x—1)(x+1)(x+2) -8 = 0 ©] RE &9 F& 751H?

D =8 ® -2 3 1 @ 4 B 8



13.

D a=3,1+V2
® a=31++V3
B a=-1.1++2

rO]l

o]

@
@

-1 o, A= o o] 3t v A

a=-3,1+ 2
a=-3,1+3



mr

min
03
T
nm,o
!

—

@ a=1

x—ay=1

?

o
L

-1

= a gk

D a

°

<
<M
bl

el
+

==+1

® a

® 9t}



15. f(x)Ex-1, x—22 Ue UHAZF 223, 54 1], f(x) & x*—3x+2
2 e YA E Fotd?

D 2x+1 @ 2x+3 ® 2x-1
@ 2x ® 2x-3



16.

]X]-m'@éle—(k Dx+k=09] %

e

sholat,

s
=¥

2o vt 2



17. oJARtEy = —x? 4+ ax & FHZtol 4 4 o, &= a 9] Fh= Foteiel
(Fa>0)

e =
-



o, M 2|

&

= —x>+4dax+a-2 9 FHZE M o]}



19.

o ox I 9
o % &

v

TAONA A, BO] T AES Aot ot AA|E L] AAtFe

15F9] 20 % Z7}st T, BAZL 25 % Z7FstaTh &5 &

of m

ol 2Rt 167 Holu 5 8674
52

Ct: 7N

Qo]
=

l

O

o, 2hd o] BAIE 2] A4t



Ao A el Aol a, b, ¢7Fb® —ac® +aPb+ab® +a® —bc* =0

20.



